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ECONOMICS

{ Honours Core )

Paper : ECO-HC-3016

( Intermediate Microeconomics—I )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10

(a) What is cardinal utility?

1% ?

(b) State one assumption of utility analysis.
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(c) What is production function?

(d) Define income effect.

I

(e) What is marginal rate of substitution?

a#? ^ ?

(f) What is the shape of indifference curve in
case of perfect substitutes?

c^53i^

(g) Define expansion path.

7f^2ppef ̂ ^51^ I

(h) What is meant by inter-temporal choice?

"snw ̂  ?

(i) Define opportunity cost.

f%n 1

(j) state the concept of 'shut-down point' of
a firm.

w I
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2. Write short answers of the following

questions : 2x5=10

(a) What is meant by budget space or set?

(b) Distinguish between gross demand and
net demand.

(c) State the two conditions of consumer's
equilibrium under indifference curve

approach.

W I

(d) Distinguish between explicit cost and
implicit cost.

2R^ W ̂  ^>#1 9m I

(e) State the concept of optimum firm.
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3. Answer the following questions (any foufj :
5x4=20

(f^ C<PIC*HI flRUl) :

(a) With the help of indifference curves,
distinguish between normal goods and
inferior goods.

CT=!(R ^St ̂

1Tst§t^ 'Sfi^ I

(b) Explain the concepts risk averter, risk
lover and risk neutral individuals.

(c) Briefly explain the concept of returns
to scale.

(d) Briefly state the characteristics of
perfectly competitive market.

£f^CTlf^vs|i^=14 1%^ I

(e) Explain how a consumer can reduce risk.

^ I
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(f) Derive average fixed cost curve from total
fixed cost curve.

w I

4. Answer the following questions : 10^4=40

(a) Define indifference curve. Explain their
properties. 2+8=10

I ̂

w I

Or / =7^

Critically discuss the law of variable
proportion. 10

^IWIHl ̂  I

(b) What is least cost combination of inputs?
Discuss how least cost combination of

inputs is attained vrith the help of
isoquant and isocost lines. 10

WT^ ̂5Z41^

^1C®1IH1 I
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Or /

Explain inter-temporal choice of a
consumer with the help of a diagram. 10

w  I

(c) Explain short-run equilibrium of a firm
under perfect competition. 10

yRTRl <PC'^, ■^[JT'dT W I

Or / ^7^

What are isoquants? Show the
increasing, constant and decreasing
returns to scale with the help of
isoquants. 1+3+3+3=10

cw i%?

aRiti'i I

(d) Define substitution effect. Explain
Slutsky substitution effect with the help
of diagram. 2+8=10

%n i af^w laaia^
■fea arai anan ^rt i
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Or / ̂7^

Explain the concepts of total fixed cost,
total variable cost and total cost. How are

they related to each other? Explain.
2+2+2+4=10

^14* '5^ 4J44 4R41
^TTtlf 4^ I 4)44 4Tr4JI I

★ ★ ★
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